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Drahtsorte FSL 0,5
1 gert Z2¢ - ok - i2
2 rt Zhe - t15
3 gebl Z5¢ -« 1 2 - ¢2
4 wsbl Z6c - k3
5 blrt Y1a - t6 25 br Z1a - d31
6 gr Y2a - t10 - n8 26 rs Z2a - d29
7 ws Y3a - t11 27 brge Z3e - d32
8 sw Y4a - n34 28 ge Zha - 435
9 br Y5a - t37 29 gn Z5a - d18
10 rs Y6a - nk3 30 rtsw Z6a - d38
11 brge Y7a - tb 31 blrt Z7a - d17
12 ge Y8a - n37? 32 gr z28a - d19
13 ¢@n ¥9a -~ #23 33 ws Z9a - 46
14 ptsw YO0a - 812 34 sw Z0a - di
15 gn Y1b - d23 35 ws Z1b - d10
16 rtsw Y2b - d34 36 sw Z2b - a1k
17 blrt Y3b - d39 37 br Z3b - d4o
18 gr tho - 45 38 rs Zho - a7
19 ws ¥5b - d11 39 brge Z5b - d2
20 sW 76b -~ d13 Lo ge Z6b - 420
21 br ¥7b - 425 b gn 27b - d33
22 rs 78b - d15 42 rtew 28b - d37
23 brge  Y9b - 48 43  vlrt Z9b - d1
24  ge ¥0b - d27 4y  gr Z0b - 43
45  ws 28¢ - d12
46 rs Z0¢c - 426
67  uw Z7¢ - p4o
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47 wsgn h3 - qb
48 j2 =15
49 ph - 36
50 hS - q9
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53 g17 - ib
54 g21 - 3j8
55 wsbr h10 - p8 = 810 - n30
56 i33 - n31
57 j19 = q7
58 p9 =~ 87
59 p11 = rd
60 j26 - B22
61 031 = j28 - 335 - m39
62 i28 - 332
63 i1k - i35
64 339 - v39
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66 h18 - n38
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